Bu r:sl{ndekl bllgll(leﬁ BATlEL AS ]l;\ln mal *d *r. Ylnzl'l‘;lllznl oln%iigRTEL AS ell tecglcul In‘f’-‘lorll'mtlt‘)’n ?%I;l‘to%n?g in fhls d?&ment Is tl'%e Eexclluslv% propi_rt of‘dBATEL l-‘\’.IS. ugd lt'llg‘ r&elthler th
TN . ' S, e used nor disclosed without its prior written consent. Equipment manufactured according to this drawing may neither
rﬁn Iznl gf?ﬂ%ﬁ; e'z l"nnp-cew?llegeras"%eeﬁllefne?vee n?ﬂfr?{nnz. be presented nor displayed in any ﬁnnner without the pr‘lt:wlEI w?"ltten consent of BATEL A.S.g 9 noy

>
md/ReviO

o
SRS
S o |5
n 5o

i 143

o L

(=] [oe]
S
o |2
u e
= |< ro
T |5
g '
2
=
8
S < o
S -, 13]]
S =3

0001
) o '
B O i
(% 08¢
I I
v v
| ¢ 1 S p | ‘l:i:li 1 S p | ¢ 1 S
I 052 | 052 |

\8 J ' _

002

3
I
H

3793 LON 00

ZINIAVATY G NIOWKYTZ6 HSHY

gu :
H] D
sEE 1—|o——o—| —
iz |
a_:D
3 150 |,83 295
=
- 244 536
2 &k -
S 300
= >
5121:» ]
3
g g
b =
EEH 3
g g2
g 280 295
= -
g Bl g E 2
[ I~ 3 N =]
3 =S l: R £
S a > =
NS g
s A 3 % 2
Sl s g 3 =
gPISE <2 =
AINZIET
g o
2 ©
[’}
SIS 2l a3 7
S: § §-§ ¢ Z 2 - ~
N og =S|I B s
g & <&= 3
203 S| <5 32
3 RF|IFE #
.8 5| S3 7 &
ER. 3 = 7 g
t el 3 5| E[Fe
s § S3| 2|33
H 2 > @(=g3
£l = g|ga
= R
N ﬁ:;
=] «rg"'
= | 3|33
gl @ | i|Bg
B o EY Ry
ol IS g
o
L b
7 2
+ =
-
= s 2 |gF
— =M
> b= 27<
no I_—I|_I [ e o}
o~ pas)
o ﬁ:ﬂ>
2 |25~
2 123
o |AZmM 435
= |2 =
= > X
a5 |=
> g
=3 S|

a
J
il
Y




Bu r:sl{ndekl bllgll(leﬁ BATlEL AS ]l;\ln mal *d *r. Ylnzl'l‘;lllznl oln%iigRTEL AS ell tecglcul In‘f’-‘lorll'mtlt‘)’n ?%I;l‘to%n?g in fhls d?&ment Is tl'%e Eexclluslv% propi_rt of‘dBATEL l-‘\’.IS. ugd lt'llg‘ r&elthler th
TN . ' S, e used nor disclosed without its prior written consent. Equipment manufactured according to this drawing may neither
rﬁn Iznl gf?ﬂ%ﬁ; e'z l"nnp-cew?llegeras"%eeﬁllefne?vee n?ﬂfr?{nnz. be presented nor displayed in any ﬁnnner without the pr‘lt:wlEI w?"ltten consent of BATEL A.S.g 9 noy
M/R!vg
To
S oW
*38
=
=2 985
o = 150
gz %
u |5
£ [= —
T |5 [ 1 ~
g
=5 [9%)
= [}
n =]
=
] —_ e
=
G =0n :
[]
1%
=
o
w
w
i -
(]
1%
=d
-
[
o ° =, [—
8 =
>
Eirg
B 300 380 295
= E»E
7= -
S > =
1 N
= (=4
s 3 S
g &8
2 o
= =1
H EEES purk
3 o ]
g o o 675
= 3 =
<28 295
g g 3
° m 3
g = = = > ] 145
8 a g £ =3
& <X 2 ] S
S TR S
o o i ~ n
E o i g i =
£ A 3 %
Sl =g g 3 ®
N2 E &
g 3 5
& ]
SIS 2l a3 7
S: 5 ., 8013 &
=R REIFE -,
2 3 8 N LE 3 &5
n ] u o|&El 2
<| < 2| F o
. 8 = > iy
: 5 3 < & 5
(g 2| 8 B[ g[Ee -
O n p=1 o |32 [
3 14 << @ =3 [7$]
] = -]
=+ n S|lahn
(4] FAR-IPY
S T(3n
> “1g3
& £18°2
s | &ia
o b=l
il £ 2182
o > -+ a o
g [ %]
S| &
o s
= £
> [Z] [} =F]
g % — Sn
3 = Zm 52
o] S 2 = =K
-~ = Sl gz
= ] S O = ]
L 0 o= m
& M N
Z |22 E
a = = 2
= > X &
= . AN N
& z
> i =
o3 3




